C8Leanig
PEMDAS (5 terms)

Order of Operations Worksheet

Solve the following.

2x3x(17+2-112 = 17 x 12 - (152 = 12 x 14) =
15+5+ (82 x 12— 15) = 16+4+22x (15-11)2 =
18x (15° +7 - Q) x 6 = 15+ (162 +8)-2x 18 =
(52-7)x3+18+6 = (7°-2%x12)x (15-11)+2 =
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8 Leaning
PEMDAS (5 terms)

Order of Operations Worksheet

Solve the following.

2x3x(17+2-11)2 = 384

15+5+ (82 x 12 - 15) = 756

18 x (15° +7 - 9) x 6 = 364,284

(52-7)x3+18+6 = 57

17 x12 - (152 = 12 x 14) = 147

16+4+22x(15-11)2 = 68

15+ (162 +8)-2x18 = 11

(73-2x12)x (15-11)+2 = 638
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